(3) MAT-1

atfgs grrgar aiten

MENTAL ABILITY TEST

¥ UFA-UA | FA 50 WA ¥ | WAF W TF 3F # ¥
THERE ARE 50 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

W (1-4)/ Questions (1-4)

frdw : w1 @ 4 % uEw A T -0 ¥, e uw ue @ ¢ o ae gue
fag (7 ) @ gotar mr 1 9% 9% 39 Avit F A K T Ow fawedl @ o ¥ W@ fawe v
i |

Direction : In cach of the questions 1 to 4 a letter series is given with one term
missing shown by question mark ( ? ). This term is one of four alternatives given under
it. Find the right alternative.

1. GMKO.S, 2.

(1) (A} W 3 Vv 4) X.
2. DX, HT, KQ, OM, ?

(1) sJ (2) RK (3) QU (4) RJ.
3. HDAY,X ?

(1) X 2) W B T 4) V.
4. KLE,IND, GPC, ? , CTA.

(1) DRB (2) BSE (3) ERB (4) ECR.

Wi (5-8)/ Questions (5-8)

frdwr : v 5 @ 8 T s Uw dEm-Avit & wh R, faed uw o qa @ S v gee
fag (?) | zofar T ¥ 3% 9% 39 Svit & A KA W 9r fawedt § | e €1 w6 fawe v
oAy |

Direction : In each of the questions 5 to 8 a number series is given with one term
missing shown by question mark ( ? ). This term is one of the four alternatives given
under it. Find the right alternative.

5. 4,9,25 ?,12],169.

(1) 36 2) 49 (3) 64 (4) 81
6. 1,3,7 13,21, ?, 43,57

(1) 31 2) 29 (3) 30 (4) 32
7. 5,3,10,8,17,15 2. 24.

(1) 25 (2) 23 3 26 (4) 27.
8. 97 77,59, ?, 29,17.

(1) 34 2) 39 (3) 37 (4) 43.
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MAT-1 (4)

9.

10.

A 52 7w F &t FvE ol I o freed 1 awn ) 5 R st @ st v
A €, 9 # @ wdwa e | i e @ & st frenet # eegds e 9 @
Fitqw fo w-a et @ ™ w1 9 @ w9} ST wwa §, 9% 9
qmT: e a9 e et
FYUA : (i) : W Aige, afgam £
(i) : Fo Aieem, fofia &
Frend : M :  of fofer wfeend, gieam &
(m : W« gigee, wfeend &)
(1) hee ferd | g §
(2) Faet frerd 11 T #
(3) =1 P 1 3R 11 W ¥
(4) ot Ferd 1 3R T @ frsnd 1w 2

In the given question there are two statements and they have two conclusions
I and II. You have to take the given statements to be true even if they seem to
vary to commonly known facts. Read the conclusions and decide which of the
given conclusions logically follows from the two given statements even
disregarding commonly known facts.

Statements: (i) : All women are intelligent.
(i) Some women are educated.
Conclusions : (I) : All educated women are intelligent.
(m All intelligent are women.

(})  Only conclusion I is true

(2)  Only conclusion II is true

(3) Both conclusions | and II are true

(4)  Neither conclusion [ nor conclusion Il is true.

fedt % we H U F9 % 2 o 1 iR 1 5 T ¥ et oa e @ TR o | el
o e e A
®UA : TAd Ud A9 Hedih HUTe! &1 fqarerd TR W ] S ||
w&: () ®, g% " % ganor fasre § geee €
() =, 9% 3namsl W 3ty R S
(1) @ 1911 9ot & (2) @& 1d I T FHAR &
(3) @ | VEet & F A I FHAN & (4) @& | FHAR & & 7 1] HE ¢
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(5) MAT-1
In the given question, a statement is followed by two arguments I and II. You

have to decide which of the following arguments is 'strong’ or 'weak'.

Statement: Continuous and comprehensive evaluation system should be
implemented at school level.

Arguments: (I) Yes, it helps in all-round development of the child.
(II) No, it puts more burden on teachers.

(1) Arguments I and Il both are strong

(2) Arguments I and II both are weak

(3) Argument I is strong and II is weak

(4) Argument | is weak and Il is strong.

11, @ ™ uE d uw wYA @ 39 @ &R R T § ) 3% fon w@ fawer w0 gE
i |
W ;e e @ AR e ¥
FROT ;e A4 Ee @ @t ® st el g
(1) &9 3 FR0 A T & (2) FG A & AfHT HROT IFHA &

(3) FUA HEA ¥ A HRUT FA & (4) U 3 HROT FHI I7EA £

In the question given below, a statement is followed by a reason. Choose correct
option for them.

Statement Narmada river flows to west.

Reason 3 Narmada river falls in the Bay of Bengal.

(1) Statement and reason both are true

(2) ' Statement is true but reason is false

(3) Statement is false but reason is true

(4) Statement and reason both are false.

12. B d | F-A 49 ARG 79, W § A% ) FE w9 7 IR Har 2

Which of the following Venn diagrams correctly represents Bus. Car and

Vehicle ?
(1) (2) @ O
(3) (4)
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13, = A @ S 49 ARE %S 71, 92 F WiEhiae el B 98 ©9 8 weie e € ?

Which of the following Venn diagrams correctly represents white colour, clothes
and natural flowers ?

(m @ (2)
) @) @ O0OQ0

WY (14 - 15 ) / Questions ( 14 - 15

fed M1 a7 @ § 500 OE A ¥ wifaw &, mmmmwﬁmm
W BTE W G R 1 39 3E YR W NeE 14 3R 18 &1 I S

Out of 500 students, the following Venn diagram represents the number of students
who got Distinction in Physics, Chemistry and Maths subjects. Answer Q. 14 and
Q. 15 based on Venn diagram.

e «AVA o

lnths

14 wifae fasma 3R o ST fawat o faee graer wra et ® de e g, se 3w
T fag fawa o favw grgar wie st w5 afatea @ e s 2

How many students got Distinction in both Physics and Maths subjects, when
the students who got Distinction in Chemistry subject is not included ?
(1) 26 (@) 15 (3) 28 (4) 24.

15. =t fawat o faviy grgar s o @t S w2

What is the percentage of students who got Distinction in all the three subjects ?
(1) 28% (2) 35% (3) 38% (4) 40%.

Wi (16 - 17 ) / Questions ( 16 - 17 )
frder : w¥9 16 @ 17 # i fawen fedlt gfie @ wam &, W 0F fawen @@ em ¥ W

forereq 97 ¢ Wt I fefaw

Direction : In questions 16 and 17 three alternatives are alike in a certain way but
the rest one is different. Find out the odd one and write correct answer.

16. (1) HHMHEET / Afghanistan (2) FEe / Kabul
(3) =4 / Spain (4) FT& / Iraq.
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17.

18.

19.

20.

21.

22.

(7) MAT-1

(1) 1 (2) 729

(3) 144 (4) 64

‘A+BHF U A BF AL 'A- BH 34 A BHI ofe1 1 79 P+ R- Q &1 71 a1
L

‘A + B’ means A is the son of B. ‘A - B' means A is the wife of B. Then what does
P+ R- Qmean ?

(1) Q P#H.fI ¥ / Qis the father of P

2) Q PHGAE / Qis the son of P

3) R OE‘IﬁIﬂT?/Pis the father of Q

(4) R,Qﬂqi%/Risthesonon.

U MA AT F 91 AR P, QR SN I A F X #I 3N P F W EI R PF
T AR Y, AN SHFAM AN AR WA WY T, P S& e & 781 1 R & amdt 31w
TR AW HAE ?

P, Q, R, S and T are sitting around a circular table facing centre to the table. R is
just the right to P and is second to the left of S. T'is not between Pand S. Who is
second to the left of R ?

1y Q 2 S

3 T (4 P

u&l<!maﬁ(_r.(>, mﬂét"_l'l-)mqurm|$7$Tml+lﬁ'a}
27 > 81 $ 9 < 6 T U 1 &N ?

If ‘<’ means ', >’ means ‘+’, =" means ‘%’ and ‘¢’ means ‘+’, then what will be the
valueof 27 >81$9<6?

(1) 6 (2) 36 (3) 30 (4) 54.

TR HI GR eT- e [t A 3 @ € 6 % faadie were W ee-d §E g 2

The four different positions of the dice are given below. Which number is on the
face opposite to 6 ?

(1) (2) (3) (4)
ay 1 2) 2 3 3 4) 4.
U 8 FHt W5 A 319 o & @t gag T &1 I/ 2 A e At gee wAr | fafra
faran s 1 3 @ fopast v 0R & fomet andt war O &t 2
All faces of a solid cube of edge 8 cm are coloured. It is divided equally in the

cubes of edge 2 cm. How many cubes will have all faces coloured ?
(1 1 2y O (3) 8 4 4
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MAT-1 (8)

23.

24.

25.

26.

27.

28.

af fedlt F W # SOLID’ F ‘HLORW’ ferar wimam &, @t 36t 2 wior & ‘GAS’ #
forar smam

In a coded language the word ‘SOLID’ is written as ‘HLORW’, then in the same
code language ‘GAS’ will be written as

(1) THZ 2 TYI (3) TZH (4) ZHT
gfs foFelt gz wren | 1= 9 W GIRL = 46 &, @ BOY = ?

If inacex"tain code I = 9 and GIRL = 46, then BOY =7

(1) 37 ) 39 3) 24 @) 42
afs 19, Wed & TF F G HI @A €, A o 7 e & F R ¢ 2

If Ranjana is the sister of the.son of Sohan's son, how is Rénjana related to
Sohan ?

(1) 9Al/Daughter (2) EH/Sister

(3) 9t/ Granddaughter (4) <rET/Uncle.

afs 3o faen @1 @ aun <o feen i ufew s A, at SW-g e ® w
AT ?

If North direction is called East and South direction is called West, then what will
be called North-East direction ?

(1) 3WR-Yd/North-East (2) d-3fT/East-South

(3) ufvem-zfeqor/West-South (4) 3TX-uf¥9H/North-West.

A el T o I S S R g O o, e SiR 2 @ 2

How many pairs of successive numbers have a difference of 2 in the following
sequence ?

6, 4" 1’ 2) 2’ 8, 77 4’ 2’ 7’ 5’ 39 8, 6' 2) l, 77 O’ 4’ 1’ 3’ 2’ -8’ 6

(1 4 (2) 5 3) 6 @ 7

frfofiaa &t aegol v § aftaa #ifag

A— ¥ B_ FRASEI C— fafked® D— q@R E— WA

Arrange the following in a meaningful sequence :
A — Medicine B — Diagnosis C — Doctor D — Fever E— Recovery
() DCABE (2 DECAB (3) DCBAE (49 CDBAE.
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29.

30.

(9) MAT-1
fer 7 fawodt § | o wew (2 ) H A Hiog, Fafs 9 smpiad § v e
ST T @

Find the missing number ( ? ) from the given alternatives, when same rule is
applied in all three situations.

S 21 51

16 |109| 2 225319 17| ? | 48

6 15 13
(1) 7 {2) 25 (3) 49 (4) 129.

firg v s @Us’ 39F ot @ deifua ¥, 36 yeR U 9w’ e A | e | wefua
g 2

‘As ‘part’ is related to ‘whole’, in the same way an ‘Arc’ is related to which of the

following ?
(1)  33d/Rectangle (2) d9t/Circle
(3) f?T*Fi/ Triangle (4) a’ﬁ/ Square.

¥ (31 - 34 )/ Questions ( 31 -34)

et : WA 31 @ 34 7% F T & @ WE &, o U g i gee-fam @ g S
Fed ¥ wE-far v w9 0 UF & 9% UF @ gU § | ! Iw-fen 6 ok o fa
T H &, S w-fa A HEER S SAeT o & | e Iw-fod A g

Direction : In questions 31 to 34 there are two sets of figures. One set contains
problem-figures while the other has answer-figures. There is a sequence according to

which the problem-figures are arranged. You have to select an answer-figure which
can be added in sequence with the problem-figures. Choose the correct figure.

31.

323

33.

Fuaer-fa3 / Problem-figures IW-f99 / Answer-figures
Oololpl  |LIALK
(A) (B) (C) (D) (v (2 (3 @
q-fas / Problem-figures IW-faa / Answer-figures
A v |5 [y SA v A2 v
(a) (B) (C) (D) (1) (2) 3y 4
que-faa / Problem-figures ae-faa / Answer-figures
(A) (B) (C) (D) (1) (2) (31 (4
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34, wue-fax / Problem-figures Iw-faa / Answer-figures
b [ o :
TITI13 [

s 8 ¢ ‘ ' a o [*)
(A) (B) (C) (D) 1) (2 3 4

W91 (35-38) / Questions ( 35 - 38)

e : v 35 @ 38  wekw A wr fax R M ¥ I @ o Faw o Rt @ e T @ B
39 @i fax &1 gFE | |

Direction : In questions 35 to 38 there are four figures given in each. One of these
does not correlate with the rest of the figures. Select that odd figure.

ss. |C|J|S |U

(1) @ 3 @

36. El E ﬂ@

1 @ @ @

37. AQW&

(1 2) (3 (4

4 %
s || ERIBRIEK]
(1) 2) 3 (9
W¥ (39 - 40 ) / Questions ( 39 - 40 )
foder : e 39 7w 40 A T anha = W v wheferar Wi, ST gdor & aTfa
Tt R #

Direction : In questions 39 and 40, find the correct mirror image of the given figure,
when mirror is placed on right side of the figure.

39. STOP
(1) eTog 20 g9oTe (3) 9TO®B 4 POTS
40. W¥F-3AHA / Question-image 33T / Answer-image
o[t 1T2] [¥To] [31a] [TTo
aja olo|li|of|V|o] Al

(1) (2 (3 4@
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(11) MAT-1
WY1 (4I-42)/ Questions (41 -42)
e : W 41 7 42 & ¢ vl F W o e e @
Direction : In questions 41 and 42 select the correct water image of the given figure.

41. W¥H-3FHA / Question-figure

(2o

I-SAPIaEr / Answer-figures

42. m—mg:fa / Question-figure

X7TW4
IW-AFAT | Answer-figures
() Xxime (2) X7TM4 (3) Xiwt (4) XiMt

WY (43 -44) / Questions (43 - 44)
frdw : o afer areEl v ° o Yo R man ¥, P e Y & e wier o, 4 TR
T B Al el Iee-AEia § | wE-E el 2

Direction : A square transparent sheet with a pattern is folded along the dotted line.
Which of the following answer figures is formed aﬁcr folding the transparent sheet ?

43.  UREN 9T / Transparent sheet IW-fa% / Answer-figures
L J .:I : :'
(1) (2) (3) (4)
44, R 9 / Transparent sheet Iw-fam / Answer-figures

K P ED B

(1) (2) (3) (4)
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W91 (45 - 46 ) / Questions (45 - 46 )

frdwr : A fow o fam A o wee ampla @ R ¥ 3w wifed (wWifed &%) U Iw i
1 379 39 FE 3Hia Fi gl

Direction : In the following figures there is a question figure, which is embedded in
one of the answer-figures. Trace out the cdrrect figure.

45. W-N@'ﬁ / Question-figure W—N@ﬁﬁ / Answer-figures
. X & A
LN
(1) (2) (3) (4)
46. W—C‘W@’fﬁ / Question-figure W-ﬂ@ﬁﬁﬁ / Answer-figures
(1) (2) (3) {4)

47. HH-|1 IR-Fax TG ™ Afeaw-foz H qui wOm 2

Which of the answer-figures completes the given matrix figure ?

RIAEERSE
14l
L
8. "ﬁ*'20*g)=1803&14*5=1o(§)ﬁ,a}7*7¢m:;mm? X

If 20 * 3 = 180 and 4 * 5 = 100, then what is the value of 7 * 7 ?

(1) 21 2) 49 (3) 343 @) 7.
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(13) MAT-1
49, 4 & w8 angfa F Tt @t wea FaRy

Determine the number of squares in the following figure :

(1 14 2 9 (3) 10 4) 16.
50. A fed m fa o wmee W @ w1 e F6ny

How many cubes are laid on a plane as shown in the following figure ?

(1) 14 2 12 (3) 10 4) 8.
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